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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc. If
any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series. :

2. Write clearly the Question Booklet Version CodeA, B, C, D orE, inthe appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part — A contains 40 questions of
one mark each and Part— B contains 15 questions of two marks each. Allquestions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer
Sheet is collected. After handing over the OMR Answer Sheet to the Invigilator..
you may leave the examination hall. 7R )
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PART —A
Q- D

Note : Answer all questions. Each question carries 1 mark. (1x40 = 40)
AW : AT, g’ij{w@t LUZOR. o ;;qtﬁ 1 e203.

it

Scientific studies of nature is necessary in society for

a) Simple curiosity and improve people’s lives

b) Economic development and enlightenment

¢) Increasing control over our planet and its environment
d) Allthe above

FRRHBY, Jg B0 D O 3% wcjﬁodadﬁei 3283 QT

a) BRBOOOT TN 230 2eRS RITHORLO

b) u&Fs e;&tpa%% TR mﬂémem#aﬁ

c) BRM RPN 5530 HTIRTET e Do0FEd ORI
d) $0edHB 2P

_ Which of the following is a weather sensing satellite ?
a) Astrosat b) Radarsat
c¢) Meteosat d) INSAT 3DR
B FINSYIFE, CIRTTO ERng Jo3ed euRn®E ?
a) SRR b) Swov ARt
) QOLICIRERET d) e mR 3DR
_ Father of Indian Nuclear Programme is
a) J.C.Bose b) HomiJ. Bhabha
¢) Vikram Sarabhai d) C.V.Raman
LRTSE BOBIED odnessodd BT
a) ¥.2. R’ b) FRe0 . LR
) aEEy Erleptnlevwy d) 2.0 R
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4. First Nuclear Power Plant set up in India is
a) Narora Atomic Power Station established in 1979 at Maharashtra
b) TarapurAtomic Power Station established in 1969 at Maharashtra
c) Tarapur Atomic Power Station established in 1969 at Uttar Pradesh
d) KakrapurAtomic Power Station established in 1969 at Gujarat
odea S 2 cdee TaRgTIE), WRtEE TEERD ead T ARTORR LR ?
a) 1979 39, DBTHTO, B Jied B0 T[T
b) 1969 d&, ai:mmﬁgd@m m@&é Zo0ea))0 352 ﬁ%ﬁ:ﬁd
C) 1969 TY WIT FWBTO, XS TTHHYT & W30
d) 1969 89, Moo S M 550" 160 W
5. Which of the following technological advances are affecting human cognition,
emotions and ethics ?
a) Bus, aeroplane, microwave ovens
b) Boilers, metro trains, television
c) Internet, cell phones, digital communication devices
d) Submarines, radars, missiles
NS ol 2008 wzp%ﬁ;no:b PHINE BRITS S0, RS TP F2uSnd e
oreasd Lethdss ?
a) WA, JWRF, IS wd (oven)
b) weoRTe, Rowde, e, BRUESFS
C) ©0307 Ry, F° Poea® wEZT BB WFIN
d) ReRoIMFRTE, Tao? RN g;m
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6. The lens used to construct a Microscope

a) Convex b) Concave

c) Biconvex d) Biconcave
mibzﬁﬁrs’cﬁ BodRn08R euEcdeenes BReT cdRT ?

a) 28 SRR b) zm%mmd

c) -2 FORRT d) Q- Bomed

7. Most likely event which can cause arise in the average temperature of earth’s
atmosphere in future is

a) Forest fires b) CO, from fossil fuels

c¢) Dust clouds from volcanoes d) Depletion of earth’s ozone layer
PORTO, HR00H BIBRSIY, FTIRD SuRRsE DO3R cdnwm &)ujsaﬁa.ﬁmocﬁ
RoLIRROT TOTE T ?

a) 2o

b) THCI0TS QOGRNYOE YOS QORI
c) zaadtmabaabr{f?od RRCBRTNS TRPE BREnD
d) gnaood hines® Iodd e

8. Plants with green and tender stems are called
a) Herbs
b) Shrubs
c) Trees

d) All of the above
T30 FOTII, BROOTIB YIS, Picims].islovbboniov)

a) n@

b) Zoedd

c¢) &3

d) @oeds cwmsira
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9. High Yielding Variely Seeds (HYV) were introduced to Indian farmers as a

result of

a) White Revolution b) Green Revolution

¢) Red Revolution d) Orange Revolution
Ted) 2ase30 FRmds aﬁe%d@eﬁa WRUBE gort a’@zsomﬁqz;_’ad TorROR e ?
a) 3 eI 08 b) BacoE 08

c) Sohmed d) ¥39m08

10. Who is known as the father of Indian Monsoon Model ?

a) Madhavan Nair b) Vikram Sarabhai
c) Vasant Gowrikar d) C.N.R. Rao
RTBE B0 BRdhd sSngons WIT Q0T deaia_téd&m:aﬂd 2
a) SRFIF® oDt b) &8 oegmcse
C) [Io2 oo d) & 2. =05, toee

11. New way of thinking, sparked by a philosophy known as

a) Humanism b) Socialism
¢) Behaviorism d) Politics
Tex seReEsner medoing g2 .55

a) Sndszmg b) FZnwmmT
) WIravand d) ooméecDd

12. The latest satellite launched by India is

a) Astrosat b) Rohini

c) GSAT 18 d) INSAT 3DR
BEedn yUsy) evm ot NTENT IR 9

a) eﬁm@@w b) dretsd

c) wA it ~18 d) a4 -3DR
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13. A social science is the systematic study of

a) The natural world b) Models of reality
¢) Human behavior and society d) Experimentation
PRI atsa,_@’ai) T A lewop v te] _ﬁﬁbucga eﬁzjﬁodadmﬁd 9

a) JRNFB B3 b) Srdod BRTO
¢) BRSS IFBeS T FERE d) @o3nensd

14. Who laid down the first accurate laws of motion for masses ?

a) Nicholas Copernicus b) Galileo

c) Oldham d) Einstein

BFR> weon Qaﬂjméﬁﬁ# Bom DORTONTI), Q0N BETOITH
a) RBRVT BRETIF B’ b) fOScdRe

c) tu%;bf d) SR

15. Photovoltaic energy is the conversion of sunlightinto

a) Chemical energy b) Biogas
c) Electricity d) Geothermal energy
DSOTTWRT TFFOI ESRlol{eve s &7 BORSFROTT.
a) TRRRCIRE T3 b) %8 ©¥Re
c) Ly I d) wRze)
16. Radioisotope used in production of nuclear weapons in India is
a) Uranium b) Plutonium
c) Thorium d) Radium
P08 SR, Fodnddond, LURCIRENROR LETED -Jw:bmbom(isotope) I, - )~
a) c3ndedodo b) mpimeacddo
Cc) BRedode d) de@cdoo
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18.

19,

- 628 s (N 0

Which of the following is an example of genetic variation ?

a) Two children have different eye colors

b) One person is older than another

c) One person has a scar, but his friend does not

d) Todd eats meat, but his brother Rod is a vegetarian

S IINIINTO cART smmods SRttt VR EoRIRAS 2
a) w3ed vied #téna e BROOT AT daﬁfja

b) we)Rhce aﬂcdnzrad m&au

c) RS} aﬁ;z& TRODOT e,ﬁainm e&3art =oud qe)&cbaix

d) Rt SROWTO ST 9 S ey oo ﬁfv%ma

The moons of Jupiter are called

a) Satellites b) Simpleton

c) Galilean d) None of the above
noon®s mﬁrjar{%*&’gi W&o Fchenns 9

a) YWIREA b) xomerume

c) fOSche® d) Soed odnmTEe 5%

Protected land for conservation of wild life, plant and animal resources and
traditional life of tribals living in that area is known as

a) Sanctuary b) National Park

c) Biosphere reserve d) All of the above

SF e, A7, AR, 302 7,68 Aosigy Tene & plenstanievh:.i LWL, WIT 2T ﬁoc%fa‘mﬁ
EolesTnios| Ej"?fd&b EARoTave) 5dcdxdd3 9

a) Lot b) Dgyecdd v S=T
C) Bemnpey d) e amp
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20. What was the first disease to be treated with a specific chemical ?

a) Tuberculosis b) Syphilis
¢) Bacterial meningitis d) Whooping cough
ROFE, ooAR03RE BROOWOT WESRRTEE [, Snde spond cleatd 7
a) 8o deen b) ad=°
c) Sodebzd d) 0w F=0y
21, _and_____aretwomajor discoveries of 15! century which led
to expansion of white colonies outside Europe.
a) Spinning machine and telescope b) Gunpowder and steam engine
¢) Gunpowder and Mariner's compass d) Mariner's compass and telescope
w08 ctutiRemR Bedd Swmny LR RORRREAY,
15 e IZRN TR B0 SRTWONE.
a) SR ceE, B BRTEIFE b) =008 D@ o) woh oo
€) S0P B SB) TRTT DFNI d) 08T B8R Rrey BRTTSFT

22. Non-conventional sources of energy are
a) Nuclear, Biomass, Wind, Thermal
b) Geothermal, Ocean, Solar and Nuclear
c) Biomass, Solar, Wind and Tidal
d) None of the above
IR0 TR 0008 AT FRUND
a) WORREW, BEITY, 30030, T
b) t3RzZRe, ONT, AT W BOSREL
c) 228, A2T, FOXD TWIT MNTH TS
d) 608 cInRPEe By,
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23. GreenHouse gases such as carbon dioxide and methane cause
a) Increase in planet's surface temperature by blocking sunlight
b) Decrease surface temperature by absorbing sunlight
¢) Increase planet surface temperature by trapping moisture
d) Increase planet surface temperature by trapping the heat in the atmosphere
BARF ooy Qomed Clé‘;tj‘ﬁ_dw‘ R Qogdearrivh
a) Archrs &dmrf@;igﬁ gETh zﬂ:i,ra@ai:o’sigt aé’a;d:b;_%aj
b) Bechrs DT &0 ot :é:}ﬁéd;il RV SRS
C) ©dod LBOR) wadnan ﬁaeegd‘éawaﬁﬁa BNy
d) eFdeas aaa)aﬁaigt BELAT ¥red aﬁctgﬂ@aﬁxsigt a‘zg’ﬁagﬁ -
24. Internet can be defined as
a) Asoftware program installed on a computer
b) An electronic device for printing documents
¢) A world-wide collection of computer networks
d) A power backup source
eoa’c‘asa@afdg‘ B139NToZ 5,098 IRWIRITD
a) rrsonegnEy CROMBAE WOt T seor
b) cma:)tﬁ’n‘%fsii TR TR eARD VBRI DT
c) agmc;j oZ nessced iy emed Aonzm
d) W FeadTmon

SPACE FOR ROUGH WORK e\ e /) /




A O A1- NS - 628

5. The fear of GM crops for human consumers are due to
a) Lack of information on long term effects on biodiversity
b) Religious practices are against modifying a species
c) Foreign genesin food may cause cancer
d) All of the above
3080 F9rE Koo MTED atelobk.pleta
a) BB FIGT Soeed BNY DEFFHOT ToFsRsIe P OINPORTIT
b) GREOFE e530RY, 2R SoBOdRENT ST
C) & HRGFNTOTOS RRONAE Besonsh BT LOLITTTEIR 2o
d) @O QTP

26. Who was the father of White Revolution ?

a) Dr. Norman Borlaung b) Dr. M.S. Swaminathan
c) Dr. Varghese Kurien d) K.N. Bahal

083 &0 52,0805 TOTT O3RTO?

a) ol TVWOF T WRETON b) oIl 20. IR A WES
c) woll Bnera® BOOCIT’ d) 3.05°. WR”

27. Scientific management of animal livestock, breeding and diseases control is
a) Animal husbandry b) Animal based farming
c) Bothaandb d) None

RRRPTINY FR P8 NSFEE, 29 Lus ®03) deen Qo0 eesse
3| S~ g =

a) D RoRRTS b) 0,63 STROB YA
¢) a S b 0B d) oIRREe VY,
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28. Antimicrobial drugs that are derived from the natural processes of some
microorganisms and that can inhibit or destroy other microorganisms are
specifically known as what ?

a) Chemotherapeutic drugs b) Prophylactic drugs

c) Semisynthetic drugs d) Antibiotics

Arg gednd SANFT @ odoor tuggmed dusg Ay, Bed - wy Brond 92d
RF BQNTD TSR TTIREG, 83 NUGIHD D F TN DFowd oD ?
a) #Bnegon By b) Seen ACReGT BRG

C) @l - gE BRG d) TTeeIEned

29. Detergents are better than soaps in removal of greasy dirt because
a) They have longer fatty acids than soaps
b) They have surfactants which make them interact with greasy dirt
¢) They contain less sodium and potassium
d) They are water repellents

SRNF D ZRMRTONNOS RN BRT 307 WSIREIH. TT

a) BURIN0T BUF BRWRE SNV Brotss

b) oee,| wsmFENYRROOE) BRE IRVEIAES BIFAL SBRUTTING
C) TR ARCRCL0 W) FPEPACLe Tl

d) 2% Beirepnsd

30. The process of softening of hard water by using nanoparticles is known as

a) Nanopurification b) Nanoremediation

¢) Nanofilteration d) All of the above

,TRC TRTF PR YOTOILENR DT ROTORATRIT 803003033 Q0T
{slevelanigeriad

a) m-ﬁaimab%ﬁ-’dm b) &=,smemomTT

C) W,FRe IRtQANE d) #0eds aup s
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31.

Primitive observers defined natural phenomenon as an activity of

a) Super natural forces b) Humans
c) Machines d) None of the above
Seiperiod 208 FHEr e 1P8T TE,3000 ae%jcb =t s\j_:},cdaﬁﬁdq T o~
w"“%ma.aﬁagqada.
a) @I T8 b) =RTZD
c) oo nEd d) 00T oIRFTR BY,
r m 32 Science and Technology in Ancient India is a work by

a) Joseph Needham b) D.P.Chattopadhyaya
¢) Sushil Kumar Mukherjee d) JohnBernard
“Tses GO, SRR o= éoejzaa;& " B PYPIS SeDFD

a) ey’ VPRI b) &. &. BERTRGH,00
C) ROLECF BORWRTT WDV d) 0 WRFE'F

33.

DNA Finger Printing is used in Forensic test is based on .

a) Matching of the DNA sequences from specimen’s crime site and suspects

b) Matching of the DNA sequences from specimens at crime site and suspect's
parents

¢) Matching of the DNA sequences from specimens at crime site and suspect’s
children

d) Allthe above

I NW3 @93 (Forensic) godmermocisd DNA 236@2,%3 wWoeFoD STR00 s 3&5%

w3t “wd

a) Pum Nejde‘) Brde Snoond 28y Jotd w§cd DNA BRFROT BpoTEE

) B nﬂécﬁ SREO Fo8 FosIo BoT VT eaa.ocmd DNA ©308300 Bt

c) FuT Neﬁcﬁ SRoo B2 Jos3d =8¢ DNA URITTT BROWEIT

d) e ua\ggca

(=]
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35.

36.

- 628 4 (RO

The radiant energy of the sun is due to
a) Nuclear fission b) Nuclear fusion
c¢) Radioactive decay d) Allof the above

ARODFT V8T Técdoo caRFTOoTNGS 9

a) =edYs b) @d=mew RO
C) L8000 30 d) Soeds 2omp

Origin of Species is a work of

a) Mathew Arnold b) Charles Darwin
c) Albert Einstein d) Sigmund Freud
&esT eI eunshd Sesd8dd

a) a’méc;i% GRFT, b) wers mars
o) BOL"F DA’ d) %@om‘@cdjz

Blue revolution being envisaged by the Govt. of India is aimed at

a) Increasing industrial production of blue dyes

b) Augmenting pulse production

¢) Enhancing aquaculture products both in brakish and fresh water

d) Increasing fish production in fresh water

908 B050R) 33 NS odne 0%, DeOF,0308 c;seoirae@efasa{i RRUSRZT 7
a) ded WEE g robEe mqﬁiﬁ@‘s’% BRI

b) Q¢ DN WRTI TR

€) Ao 32 ZRNTT &L0T 3 FOSUELA- S TROTTH |
d) A%RE0TO Q0D Y sodd IR |
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37. Which of these two provide proof of excellence of Indian metallurgy before
industrial revolution ?

a) Damascus swords of West Asia and iron pillar near the Qutub Minar
b) India gate and Gateway of India
c) Tippu Sultan’s sword and palace
d) None of the above
rle g1 29N CIRT TN TR0 50,0800 Brgen PTLEONT CINT ﬁzﬂtaﬁd Bvje] V)
' BB BTS2
a) 35533 TR0 TRRAA" 8 o2y BBt WD wWPedd BVFIT gow
b) aoBodm e S8 rieeFade 5’ BoRodR
c) 8y, RoRFA 8 Doy VORI
d) o) CINVER VY,
38. Which one of these depletes the ozone layer and causes global warming ?
a) Nitrogen dioxide
b) CFCs
_ ¢) Ammonia
¢ e d) Allthe above
31t IRONT oI BRIND e S3gecinow BRER PSS FTRBPEE DTN
0 NES 7
a) oxE3 E 8, &
b) dredrt FREGRE PWFS
C) @SReodR

d) S0eIT VTP

SPACE FOR ROUGH WORK
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39.

40.

What is the maximum speed possible for any wave in the solar system ?
a) Every wave can have its own speed

b) Speed of light

c) Speed of electron

d) None of the above

RRoDFReBLY. odnayce Lot i m%mr{:d eﬁsécé deﬁ;ﬁﬁ% 9

a) B2 Lo 5 B3 Senas), BROTILTIT

b) s Senca,

C) w5 A Benam,

d) 303 cIRPEe L)

Washing soaps contain

a) Potassium salts of fatty acids

b) Sodium and calcium salts of fatty acids

¢) Potassium and sodium salts of fatty acids

d) Sodium salts of fatty acids

BRBODED YUTCIR AR FOURTINED 83 NS 03 03T B0k ?
a) BRWF SR TPLRXCIO OIED

b) irawﬁ RN 5, 0030 TP ARERCIO OTD

c) im?%:’: SEINY AReROI0 R FpERNCI0 360

d) 3ewE swEyned AneRodo OWED

SPACE FOR ROUGH WORK
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PART-B
Qgeni- W
Note : Answer all questions. Each question carries 2 marks. (15x2 = 30)

Aus: awn TNV Lwgok. T I 2 o3

41. Informed public with science and technology background are necessary ina
Democracy.
a) Toconvey fo state necessity and feasibility of intended science business
b) To deliberate on diverse views on merits and demerits of technology to select

right ones

¢) Tobring transparency in technology based business, policy-making on vital issues
d) All of the above
Frgrzg T, NRF 23 03T SHRFECI0T, SN 5Z B3, T

a) @'ab%éé w@e&é Njn) qai— 30 _qgi ~ GO0 T A3RewaEng moﬁrmq&éoﬁa w‘i\

SR

b) F95 gagneaneod 2R3 RGBIGENS v} 1l FRP0T ORI, B03Y
SIRBLD

c) Jogmy -ETR03 0,500 DRONTY, 25oF 00 QedNIS) TTTBFFE T

d) 03 QORP
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42,

43.

Importance of information technology in education are

a) Faster access to information from across the globe

b) On-line libraries and dictionaries, make grasping and learning easier

c) IT based communication systems such as emails, SMS help interaction for cla
d) Allthe above

580000, Bted 0B T3 @0 Invh

a) Bwowdtd Soed BoeSnved deep, Wndd vKls

b) & -CF RTFWoRT W WWFTIPT DWORNE S, N T WL FOTCH T3
C) S&e-Bogw o8 Honss mEpsnveremails, SMS $508 3xg

d) Beds e

Match the scientists and their discoveries :
Scientist Discovery
A. Alfred Nobel i. Vaccination
B. Edward Jenner ii. Electric bulb
C. Newton iii. Gravitational force
D. Thomas Alva Edison iv. Dynamite
a) A=ii,B=i,C=iv,D=ii b) A=iv, B=iii,C=i,D=ii
¢c) A=iii,B=iv,C=i,D=ii d) A=ii,B=i, C=iv,D=li
FING R QMY FIOR) BT SQITWM,ONTT FRODAD:
amva RSPl
A. tﬁ% 7 BRewer i. ©aF
B. o@ @ F 5o’ ii. iy e
C. 3pus* iii. r>obee B o B8
D. 5osda’ B0, 2B iv. By
a) A=ii,B=i,C=iv,D=ii by A=iv,B=iii, C=i,D=ii
c) A=ii,B=iv,C=i,D=ii d A=ii,B=i,C=iv,D=ii

SPACE FOR ROUGH WORK
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44. Which statement best describes the structure of an atom ?

45.

a) Atiny nucleus of protons and neutrons with electrons orbiting around it
b) A positive core surrounded by electrons packed tightly around it
c) A particle comprised of a mixture of protons, electrons and neutrons

d) A large core of protons and electrons surrounded by neutrons
BomPraE) 5 TENS OIRR BegF DWORBT 7

a) TPRT T IR RT nves 8RR, O5 & neod fﬂ&i]éﬁm#\%gd)d 20T FJ@& oo
b) 2C% T 1eon 28RO 2,000 Gags 3605

C) TRURT, IRIRT BB R FNY WFET 1ot B0

d) ai%t:@,a‘ﬁ@ocﬂ RoBywoT T et =R m}i’%ﬁfﬁé’é Notas! ci!ea;@eot_ﬁ)

Heliocentric model of Nicolas Copernicus explains the motions of planets
a) Motion of astronomical epicycles ’
b) Motion of heavenly bodies around the earth

¢) Motion of planets around the sun

d) Motion of satellites around the planets

RWROT BRETAFIRS ART, FeolB BHoNY WO BRTOIRIOT, NBNY
oot 8 3eNHod S FRWEIT.

a) iy LeIEE 0630w W

b) RN R =EIF NS BOd

¢) RT3 RE NEnY ¥os

d) R@nd 22 wosEnzEny B¥os
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46.

47.

Ancient Indian knowledge of theories on human body, symptoms of disease and
remedies in ayurveda are made available in which Sanskrit text 7

a) Arthashastra b) Charaka Samhita

c) Chandasshastra d) Aryabhatiya

333 Boedcd Biss, Brenind rbraugrarto SoF) R 13837 SIser B0 1) PR,
363 GRUST 03RS Ko 3 ROBRY, FEWBIT 7

a) wgroeR, b) @08 =0k
C) goTzz, d) edgiesecd
Match the Philosopher/Scientist with their contribution :
Scientist Contribution
A. Aristotle i. Three laws of motion
B. Newton ii. Laws of inheritance
C. Gregor Mendel iii. Gravitational force
D. Galileo iv. Scientific methods
a) A=ii,B=i,C=iv,D =i b) A=iii,B=iv,C=i, D=l
c) A=iv, B=i,C=ii, D =iii d) A=ii,B=i, C=lv, D =ii
320 0/ R D INTR, £330 3REAR BRoOAET B00iRE Bods :
MR gamon
A. omREef i, Boscd b do3ned
B. SR,u ii. essbasodeody VOO

C. fno® dorde* i, 7B, FRFE B
D. f9Ocire iv. %m@@ﬁamﬁﬁﬁ:
a) A=ii,B=i,C=iv,D =i b)A:iii,B:iv,C:i,D:ii
c) A=iv,B=i C=ii, D=ii d) A=ii, B=__i,_(":_fiv, D =iii
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48. For a fixed mass of gas at constant temperature, if we decrease volume, the

pressure will
a) also decrease
b) increase
¢) remains constant
d) none of these
. ?%dmd e YUIR BT, 1ot AT &R [SAeploes Boxnes(volume) s 3R
® SRETS, .36 33,
a) RsHIRNZE
b) @RS
c) %dmﬁd%d
d) seds ciRRTR LY,

49. How stationary waves are formed ?
a) Alransverse wave su perposing a longitudinal wave
b) Two waves of the same speed superposing
c) Two waves of same frequency travelling in the same direction
d) Two waves of same frequency travelling in the opposite direction
:&d werieh et LootHMITE ?
a) 20w FIF B0 EiiaSation wicdpord sed WedRTooT
b) tuozse Sene 0w SN oo 20eBR0T WONRYTO0T
c) wotie 30D SO SN wotde I, BOR) B0
d) wodde SR SoDd QTR 2eineh adac:g; fﬁg}ﬁq 3ORRTOCT
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50. Which of the following definition for ‘Science’ has been coined by Carl Sagan ?

51.

o e e

- 628 o AT AR L

a) Science is away of thinking much more than it is a body of knowledge
b) Isan intellectual activity carried out by humans
c) Scienceisa knowledge covering general truths of the operation of general laws

d) All of science is uncertain and subject to revision

BoF Amard ZE0 MRFI TRFRD)

a) Ve R Pomonus Bdrasm® FBRNRFNG

b) BRTRT IELS Romb afaﬁga# BIOTLT

c) RWE, 5, TR ARRRT, Qe3ond ﬂoaﬁasdféodoé@grﬁmod =P
d) QERPs auRp epor s, 358 ToRTRN LIRNSET,

Difference between hybrid and transgenic or GMO plants

a) Hybrids live longer and transgenics live shorter

b) Hybrids arise due to Cross pollination, while transgenics are produced by transfer
of specific genes from different species

c¢) Hybrids are generated from grafting but transgenics result from germination

d) Genes in hybrids are under breeders control, but in GMO plants they are
uncontrolled

Q083 S8y o030 BeRONTOR IS

a) QIFINEL DEFF FOR, DRSO YOFTO WBIZ

b) @03Beneh ©&, ToariE,03000008 U3Z0IRTT, LCTO Borieh ROFE, BROToSED
Beaneo Lied 30D ARTPOT g HUT RN

C) a0BTINE), FARNEIITO0R SodRONTT FeD0BONIRY 2 e cR00T SO3NOBLRNZU

d) QogBenvd, esdmods Searisd 3208 Ao BEOR, B0 030NEY), AR WHRY,
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52 The observedincrease in the average temperature of the air near earth’s surface
and oceans in recent decades is

a) Environmentchange b) Global warming

c) Healthchange d) None

2SR TIBRPY, inadee), S el Mnde RopK0 THRRIRE. Form0DTS 0TI

a) B0RNS WIETHES b) Mes THTVRRIS 20T

c) wdems WRCHRH d) amRTe BY,

53. Nano smart materials that alter shape under the influence of an electric field is

* a) Thermoresponsive materials b) Polychromic materials

c) Electrochromic materials d) Piezoelectric materials

T 3w TOFTOCT IR &5B0SR), RO S dee vy (nano smart)
FA WA AIN) DOTID FEOROTT.

a) o T3E0IR TR0 b) wEdEeeF WRYNF
c) AR, @R T JRNW d) FEeSE s SN
54. Second stage of the industrial revolution
a) Consumable goods production b) Capital goods production
¢) Standardization d) Productivity
30 53,0800 TR Bodeg) CIRYTE, BowoHRT), ?
' - a) TFTT ATHNY LUBTS b) Wy AUBNY LUBITS
C) RBRREIETED d) eeRrsd

55. Which of the following is true for “Sound” ?
a) Sound cannot travel through a vacuum b) Sound cannot travel through gases
¢) Sound cannot travel through liquids d) Sound cannot travel through solids
LSRR FGNS CIRTYT BOTBROTIIZE ?
a) DarE (vacuum) Seed BORCRTR b) wRens Ropws BORURd
c) BBENY Bees 3OReRTID d) S3ne seed BORRTW
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